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The Riddler has invited you to 
a birthday party at his apartment. The elevator buttons are shown below. They are lettered from A to I,
but the letters are hidden. You 
must press the buttons in order
from A to I  to get to the party. 
Use the clues to find the
button letters.
ANSWERS
CLUE 1
The D button is blue.

CLUE 2
The G button is yellow.

CLUE 3
The F button is directly below a triangle.

CLUE 4
The I button is in the left column.

CLUE 5.
The B button is not a circle.

CLUE 6
The E button is in the middle row.

CLUE 7
The H button is in the top row.

CLUE 8
The F button is lower than the C button.

CLUE 9
The C button is directly to the left of a circle shaped button.
ANSWER

I
G
H

E 
C
D

F
A
B
( What is the missing number indicated by “?”

1, 4, 7, 10, 13, 16, 19
Describe the pattern:

Successive numbers go up by 3

( What is the missing number indicated by “?”

21, 17, 13, 9 ,5 ,1 
Describe the pattern:

Successive numbers go down by 4 
( What is the missing number indicated by “?”

1,1, 2, 3 ,5, 8, 13 ,21 ,34
Describe the pattern:
This is the “Fibonacci Sequence”. Each number is the sum of the preceding two.
(  What is the missing number indicated by “?”

1, 5, 4, 8, 7, 11,10, 14, 13, 17
Describe the pattern:
The differences between successive number follow the pattern +4, -1, +4, -1, +4 ....
( What is the missing number indicated by “?”

0, 1, 3, 6, 10,15, 21,28 ,36
Describe the pattern:
The difference between successive numbers go up by one each time.

i.e.: +1, +2, +3, +4, ....

(  A sequence is 2, 3, 5, 9, 17, 33 ... a possible sixth number in this sequence is:

Describe the pattern:
The differences between successive numbers doubles each time.

i.e.: +1, +2, +4, +8, +16
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( If the number pattern shown is continued,
 then the second number in the fifteenth row is:

Describe the pattern:

This is “Pascal’s Triangle”.
The second number in a row is one less than the row number.

So if n = 15, then n -1 = 14
( The value of 1 – 2 + 3 - 4 + 5 – 6 + ... -100 is

Show your work: Add the numbers in pairs as shown:

 1

 3

 5

 7

-2    

-4 

-6

-8
-1

-1

-1

-1

etc...
There would be 50 pairs with a sum of -1, therefore the value of the expression is 50 x (-1) = -50
(  What is the missing number indicated by “?”

0, 1, 2, 3 ,6, 11, 20, 37, 68, 125
Describe the pattern:

Add the three previous numbers to get the next number.
ie: 20 + 37 + 68 = 125
